






𝟑
−𝟐𝟏𝟗𝟕 ×

𝟑
−𝟏𝟐𝟓 ÷

𝟑 𝟐𝟕

𝟓𝟏𝟐

1.492/7
2.520/3
3.554/7
4.571/5



( 334 + 334 + 334 ) ( 234 + 234 ) = 6x  ,     Find x = ?

1.33
2.34
3.35
4.36



( x x ) 5/4   =  xx
5/4    

, find x = ?

1.125/64
2.625/256
3.25/16
4.5/4



xx 𝐱 =    ( x 𝐱 )
x,   Find x = ?

1.3/2
2.9/4
3.81/16
4.27/8



38
2x     

=     812
5x

1.1
2.2
3.3
4.4



If 3x – y = 12,     Find 
𝟖𝐱

𝟐𝐲
=  ?

1.4096
2.2012
3.8192
4.2048



3 x + y  = 81,   81 x – y  =  3  ,    Find x = ?

1.255/64
2.125/32
3.240/64
4.NOT



8 3x – 5  =  
𝟏

𝟑𝟐 𝟕
_
𝟒𝒙 find x = ?

1.16/9
2.20/11
3.25/13
4.2



625 2x – 3  =  25 6
1
1528

1.2
2.3
3.4
4.5



( 
x

y
)5a

_3 = ( 𝐲

𝐱
) 17-3a

1.-6
2.-5
3.-7
4.-8




